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GENERAL INTELLIGENCE & REASONING &éﬂ_j’.-j:'t#_"

l. There are threé baskets of frois. Firs

hasket haz twice the number of fruits in the
Ind basket. Third basketl has %lh ol the
fruits in the lirst. The average of the fruits
in all the baskets is 30, What is the number
of fruits in the first basket !
{(A) 20 iBy 3o
()35 ) 40

. From my house 1 walked 5 km towiards

Morh. 1 turned right and walked 3 km.
Again | went one km to the south, How far
am 1 from my house ?

(A) T km (Bl 6 km

(4 km @) S km

. A and & are standing at a distance of 20 km

from each other on a straight Enst-West
road, A and B start walking simulumeously
eastwards -and westwards respectively and
boih cover & distance of 5 km. Then A turns
to his left and walks [0 k. & turns to his
right and walks 10 km at the same speed.
Then both tum to their left and cover a
distance of 5 km at the same speed. What
will be the distance between them

{B) 30 km

(C) 20 km () 25 km

. From the given alternative words, select the

word which eanner be formed using the
letters of the given word !
REFORMATION.
(A) REFRAIN
(3 REFRACT

(B MOTION
(D} FORMAT

Directions : From the given alternative words,
select the word which can be formed using the
letters -of the given word,

5.

¥,

MANUFACTURE
(A) FRACTURE  (B) MANNER
(C) MATTER (D} FACE

L

If in a certain language, Fl_li\’ER 15 coded
as QNDCIX, then how SINGER will he
coded in the same language 7

Ay
(B) TEIKQX :

(A) T!‘EQEJ:{

() TRQRXT {B) TEQXIK

IllF...-‘ .

If in a cernin code, D578Y is wrilten s
EGKPT and 2436 is written as ALLUR, then
how will 24530 be written in that code
(A) ALEUT (B} ALGTU
_Er ALGUT {11 ALGRT

8, A satement is given followed by four |

alternative wrguments. Seleet one which is
mdsl appropriate,

Statement : White clothes are worn maore
aften in summer becnuse

[(A) they are thin and cool

(AT they are bad absorbers of heat

{C) they can be easily washed

(D) they are ensily available in summer
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Brirections : In question nos. 9 to 17, select the
related letler/ word/number/figure  from  the
given alternatives,
Y, Procession : Route :: Barth : 9
(A) Space (B) Sun

(¢ Orbit (D) Highway

10. FERTILIZER : CROPS :: 7

f’ R e

. AA) TEACHER : EDUCATION
(B) CHLORINE : WATER
” [':.5' TONIC : BODY

(D) PESTICIDE | RATS
;

. 11. LOCKER : KMNPBDILDFQS :: LEFT - 7
(A) KNCDSGSU () KMDFEGSU

(C) KMDFEGUS () KMDEFGUS

12. YWUS : BDFH :: WUSQ : 7

A 1FHD (B) FHIL
Ly JLNP I:!J] ETVX
4 ERERTH -I!:_n;?ﬁ|ﬂ ir
13. ADCB : KNML :: EHGF : 7
{(A) DGFE AB) RUST
(€) ORST (D) ZVXW

SORAPED A (o

14, BCDF : GHIK ;: LMKNP « 7

(A) QRST (B) QRTS
PEE;J---QRSIJ (I QRSV
15. IC: 6 =DP = 7
(A) 14 (B 10
) 12 (2 16
16. ABCD : WXYZ = EFGH : 7
—fA) STUV {B) ZYXW
()Y YUITS (I} WXZY
17, 83225 v 3R+ 1
) 44 (B) 49
() 40 () 63

Directions ¢ In question nos, 18 to 22, find the -
odd number/letters/ figure /number pair fram the
given alternatves,

18. {A) Ladder

(B) Siaircase

K1 Bridge
(13} Escalator
19. {A) Talking (B Walking i
#E':[,,Siuuping {8 Running
20. (A} DWHS (B) BYDW
(CICWES (D EVIQ

SPACE FOR ROUGH WORK
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2L (A) DHLP %® @) rxpp 4% - Directions : Arrange the following words as pe
) INRV TH arder in the dictionary,
NGAROTS A

2 a1} “1:'?;,. <] 68 =" 27. | MNoble 2. Nobilitary 3. Nablesse
() 8 ~ e (1) 64 4. Nobility 5, Nahhle

Ay 1, 4,32, 5 B 3. /401,19
23, Find the number tha does not belong to the i e .

Eroup of numbers for luck of COMmIon L5240 o g 43,51
roperty, o

" p;‘:, 9129 .ﬁ‘l:; , | 28. Which one sét of letters when sequentially
[A) 94: <) 62 Placed at the gaps in the given letier series

(C) T-’-ﬂ 37 (12} 853 shall complete ir 7

4 i n 0, "
MR _nn L oana ona S opan” g

4. Find oul the ser of numbers amongst the - -
four sets of numbers Liven in the alter- JA) annan AB) aanan

natives which is maost like the sel given in (G) ngnna CEY Mk ::r: ]
the_question, Ly 9 % 2
Citven set :'I‘E, 36, 72) Directions : In question nps, 29 1o 32, i series s
(A) (7 56, 63) (B) (3, 15, 24) given “;ﬂl one/iwo turmh miiusing, Chooge th;:]

e i A | correct alternative from the Eiven ones thal wi
Jj") (842, 54) D) (5, 30,35) . complete the serjes, |

) C‘@ In the follawing question, number of leters

wre skipped in between By &t particular rule, 29. !"'LH{-‘T'&"HEPQRDEFST 17

l Which of the Fufi_gw_in_g series _:gb_mr'rq.s the (A GK (B) Uy
_ruie? (C) GH oy g
(A) AEJOTY (B) AFKPUZ |
C) AFKPTY ) AEINRY .59 %= g4
P i B64 =354
“ [ #9: Insert the correct missing number from the T37="T0
' ' choices given below - (A) 4 By 7
hh‘—u_T——:_r— (= Jlg L
2em |7em|9em I8 cm 3ﬁ¢m|'?2um_l ) 5 D) 6
Ty
1357 ) 450 | 441 | 123 1787 | L | sio8 10 18 1 1, 12, 64
(A) 36 (B) 15 (A) 28 (B) 36
{C) 51 (D) 69 (C) 25 ~A) 32
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32, 34, 18, 10, 74
(A H
' T B

(B) 5
A 6

33, Find the wrong Humhf.:r in the series.
fﬁhﬁa 124, 215, 342

fﬁ.j EH
(Cy 124

M. In a class Rajan got the 11th rank and he
was A&l from the bottom of the hst of
Boys passed. Three boys did not ke the
examination and one failed, What is the
total strength of the class 7

(A) 32 (B) 42

(E}/ﬂﬁ (D) 46

35, In a family, mother’s age is twice that of
daughter's age. Father ig 10 vears older
than mother, Brother is 200 years younger
than his mother and 5 years alder than his
gister. What is the age of the facther

(A} 62 years AB) 60 years
{C’) 58 years (I3} 53 years

6. Rahul and Robin are brothers. Pramod is
Robin's father. Sheela is Pramod's sister.
Prema 5. Pramod'zs mece.
Sheela’s  pranddaughter, How 18 Rahul
related to Shubha 7

{4 Brother

&7 Uncle

iR} Cousin
() Mephew

(B &3 ;IA_ b
(D) 342 :

_ n Ravi's clock shop, 1wo clocks were
brought for repaoirs. One clock has the

Shubha s |

37. In a survey of a wwn, it was found that
63% of the people surveyed watch the
news on TV, 40% read a newspaper and
25% read a newspaper and watch the news
on TV, What per cenl of the people
surveved neither waich the news on TV,
nar read 8 newspaper ?

(A) 5% (B) 10% !
(€] 20% (D) 15%
\/J Lllﬁﬂ

M. In the vear I‘J'Elﬁ the Republic day was

celebruted on A which day was the
Independence -::-l:]e{'lr..m:d in 1 ,1*
2000 7 h'i- Yﬂﬂrr

J‘l

..-.-|
(B} Mnnday
‘}ﬂ'} Suturday e’ ,4.
gar’
3. Mr. and Mrs. Gopal have 3 daughters and

each daughter has one brother. How many
persons are there i the fumily 7

{A) 5 (B 6

4 M s

(A} Tuesday
() Friday

cuckoo coming oul every sixleen minuies,
while the other one has the cuckoo coming
out every eighteen minutes, Both cuckoos
come out at 1200 noon, When will they
both come out together again 7

(A) 206 PM (By 2408 PM
(€] 224 PM (B} 2:32 PM

r.,i‘-.
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fhrections : In question nos. 41 and 42, select
the missing number from the given responses.

o 1
Rt IE‘:‘F ﬁl4 8 3n%*ﬁ
o 635 | 2 [1he |0 o

P et L

45. A man starts from a point, walks 8 km

towards North, wrns rght and  walks
|2 km, turns left and walks 7 km, turns and
walks 24 km towards South, turns right and
walks 12 km. In which direction is he from
the starting peaint ?

| ¥ 11296 [ 576 [ 100, 70 . ¥
| a4 4 ]‘r' r!j‘ml"l 4 ’_Eij{}* Maorth {B] South
o 324 -0 4 289 B
: LA
42, - ZI':I'. T e 'st 46. Which diagram correctly represents the reli-
W2 3p ¥ Ak Aot
‘;%/ tionship between Human beings, Teackers,
4| -5» .} "'a"l{'[; frraduates i
| 7| &] 9 b . )
x 1773811 {
1
(A} 49 (B} 50
(G5l (D) 52 3’?
43 The number of road accidents in 8 city is

increasing month by month as given helow. | BT
Find out the number of acciderits in tho i o
memth of June. '

Maonth | Jan | Feh! March April| May | June /_\
o o 5 0 )
B & |8 | an | andees| o \ e

aeciderty | 3 Y = i h/

WLy e Ay - R o
(AT 64 U
(C) a2 (L2} 40 i

4, If “x" means 'addition” "= means ‘division®,
“=" means "subtraction’ and ‘+' means ‘nulti-
plication’. then which of the following
equations s correct !

A 16+5-10x4+3=9
(B) 16-5%10+4+3=12 P
(C) 16+5210x4=-3=0
(I 16x5+10+4-3=19

[6+S~10 =152 SPACE FOR ROUGH WORK

xS -102AE u > ; n*ﬂr%
T Sl Y Lo
L-.L'i rj]'lnf ff.‘ﬂé;'f“(;}';;
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PART - B

GENERAL AWARENESS

Lambert's law is related o
(A} Reflection (H) Refraction
(') Interference (D) Hlumination

The coral reefs are the marine counterparts
of

(Al Temperate forests

(B} Tropical ran forests

(0] Savannihs

(D Scrubland

The Refrigerant ‘FREON" is
(A) Calcium Tetra Fluoride
(B) Difluora Dichlore Methane
() Fluorspar and Felspar

(D) Hydeafluesilicic Acid

In the budget speech on February 28, 2011,
the Finance Minister has announced that an
wternational award with prize moneyv of
T 1 crore is being instituted in the memory
of Rabindranath Tagore for promoting

(A) international peace

(B} emancipation of underprivileged

{C) universal brotherhood

(D) human rights

The srong earthquake-cum-tsunami which
has maved Japan's main islund Honshu by
a few feet has also caused Earth's axis 1o
wobble by about
(A) | inch

(C) 4 inches

(B 2 inches
(1) 6 mches

WIKILEAKS, a whistleblowers website is
an internations! organisation based in

(A) LLS.A. iRy UK,

(Cy Sweden (1) MNaorway

‘Momadic Elephant' was the joint military

exerdise held some tme back in India |

between India and
(A} China
{7y Russia

(B) UL5.A.
(1} Mongolia

BC 2011
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58,

59.

6l.

hl.

The maximum limit on poll expenditure for
parliamentary  constituencies has  been
raised i February, 2011 10

(A} 30 lakhs (B) 35 lakhs

() 40 lakhs (L 50 lakhs

Who received Sangeet Natak Akademi's
Ustad Bismillah Khan Yuva Puraskar for
Parce in 20W0% 7

{A) Omkar Shrikant Dadarkar

(B} Ragimi Chander Sarkaor

(C) Abanti Chakravorty and Sukracharya
Rabha

(D) K. MNellai Manikandan

Which of the following folk dances is
associated with Jammu and Kashmir 7

{A) Jhora (B) WVeedhi
{C) Rauf (D} Suoisini

Which ol the following books has been
written by Kamala Dus 7

(A} Wimess the Night

(3) The Red Devil

(C) Earth and Ashes

{3 Tonight This Savage Rite

Who invented the Jet Engine ¢
(A Karl Beng

(B} Sir Frank Whirtle

{C) Thomas Savery

(10 Michael Faraday

South-South dialogue 15 associated with

(Al Co-operation  among  develaping
nabions
(B) Arms conference

(C) Summit ‘meeting herween 'developed

and developing countries

(D) All the above
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64. The reserves held by Commercial Banks | 69. The ‘break-even’ point is where

65,

.

0.

hE.

over and above the statulory minimum,
with the RBI are called

(A) Cash reserves
(B) Deposil reserves
(C) Excess rescrves

(1) Momentary Teserves

Who ig authorised 1o issue coins inindia ¢
(A} Reserve Bank of India

(B} Mimsiry of Finance

() State Bank of India

{12 Indian Overseas Bank

Which four countries are called the Asian
Tigers 7

(A) Hong Kong, Singapore, South Korea,
Tuiwun

(B) Hong Kong, China, Singapore, Taiwan

(C) Mong Kong, Malaysia, Singupore,
China -

(D) Hong Kong, Sduth  korea, Ching,
Twiwan

In the Budget Estimates for 2011-12, an
allocation of T 300 crore has been made for
promoting output of  pulses TR ALY
villages in rainfed areas with o view 1o
attaining self sufficiency in pulses in a
period of

[A) twi vears

(B three years

(€7} four vears

(D five years

In the budger for 200112 presented by the
Finance Minister on 28-2-2011, the growth
rate Tor the year 2010-11 was projected al

(A) T-6% () BO%
(C) B6% (D) 90%

! D - BC 2011
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(A) marginal revenue equals marginal cost
(B) average revenue equals average cost
(C) total revenue equals total cost
(12 none of the above
70, The method of  Impeachment of the
President of India is adopted from
(A} US.A. (B) LLK.
(C) USSR {3} France
71. In the Bighth Schedule of the Constitution

of India, which languages were added
subsequently

(A) English, Sindhi, Marathi, Sanskrit
(B Sanskrit, Sindhi; Konkani, Munipuri
() Sindhi, Kenkani, Manipur, Nepali
(D) Marathi, Oriya, Konkani, Nepali

72, Indian Parliament Means
(A} Rajya Sabha = Lok Subha

{B} Rajya Sabha - Lok Sabha - Primne
Minister

(C) President of India — Rajya Sabha -
Lok Sabha

(D) President of India — Vice-President of
India — Lok Sabha - Rajya Sabha
73, Generally, the soil of the northern plains of
India has been formed by
(A} depgradetion
(B} aggradahon
(C) weathering in situ

(I erosion
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74. Hiven Tsang visited India during the reign
aof

(A) Chandragupta 1 (B} Chandragupta 11
() Harshavardhana {7 Rudradaman

75, The Muslim adventurer who destroyed the

Nalanda University was

{A) Alla-ud-din Khilji .
(B Muhammad-bin-Tughlak
(€} Mubammad-bin-Bhakiyar
(1 Mubhammad-bin-Cuasim

76. Painting  reached its  highest level of

development during the reign of
{A) Akbar
() Jahangir

(B) Aurangzeb
(1% Shah Jahan

T77. The communal electorale was introduced

for the first time in India in
{A) 1919 (By 1933
{C1 1906 (D 1909

The twe states which had nl:mrt'nngmsi.
Ministries in 1937 were

(A} Bengal and Punjab

(B) Punjab and NWFP -

(€ Madrag and Central Provinces
(D) Bihar and Utiar Pradesh

78,

Sed breeze 15 formed during
{A) Day time (B) Night time
{C') Both (13} Seasonal

stored as glacial jce 7
(A) S0% (B) 108
(C) 70% (D) 30%

D -"BC 2011

What percentage of world's freshwater is

Caxcers NewS & Jops - SORAPEDIA -0

B1.

" 82

B4,

Which one of the following rivers of India
does not make a delea ?

(B Godavari
(13 Tapti

(A) Gangiés
(") Mahanadi

Which one of the following state has the
longest coastline ?

b

{A) Maharashtra  (B) Tamil Nadu :
(€ Gujarae (D) Andhra Pradesh &
.
The puss located in Himachal Pradesh is :._ E
(A} Shipkila (B) Zajila it
() Nathula (D) Jelepla :ﬁ
Match the following and select the correct

answer from the codes given helow :
Producing state
i1} Himachal Pradesh
(b) Suﬂmm«'wnrl'i} Assam

e} Groundnuy “13) Uttar Pradesh

@) Apple () Gujarat

(A) a-2, bed; -1, &3

jy_) -2, b3, -4, d-|

(C) -3, b-2, ¢-1, d-4

(I a4, b-3, c-l, d-2

Cropy "
(a) Tea

An example of false fruit is

(A} Apple (B} Guava

(C) Mango (D} Tomato

Normal fasting blood sugar level per
100 mi, of blood in man is

{A) 30 -50mg (B} 50 - 70 mg
(C) 80 - 100 mg (D) 120 - 140 mg
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87. Raie of interest is determined by 94, What did the first electronic digital
(A) The rate of return on the capital computer contan ¥
invesied {A) Transistors
(8] Central Government (B} Valves

() Liguidity preference {C) Core memary
(D) Commercial Banks (D) Semiconductor memory

05, Microsoft Office's somal i il
88, Thivectdr of dissuse-slobpiig aickness s icroso tee's  personal  information

MMANAger 15
(A sand-fly (B) house-fly (A Outlook
() lruit-fly (L tse-1se v (B) Internen Explorer

' S |
89. For how many vears have the dinosaurs \L) SICganLEer

been extinet ? (D) Access

(A About 25 million years 96. Hard steel contains

(B) About 65 million years (A 2 10 5 per cent carbon
(C) About MM million vears (B} (-5 w 1-5 per cent carbon
(D) About 135 million vears (C) 01 to 004 per cent carbon

>y (D 001 1o 04 per cent carbon
0. A peostationary salellite revalves round the
garth from 97. Cement i formed by strongly heating i

(A) East to West  (B) Weat to East mixfure of

(C) North to South (D) South to North GA Cimguicis and grephite
(B} limestone and clay

91. Among the following materials sound () chalk and graphite
travels fastest in (D) clay and graphite
(A) Steel (B Adr

OR. Gilass 1s o

it o g (A} superhested solid

92. The rear side of the moon was photo- (B supercoolad liguid
graphed by (€] supercooled gas
(A) Viking 1 (B Wiking 11 (D) superheated Liguid
(L) Launa L (13} Mariner IX

99, The emperature of oxy-acetylene flame i

93, Which phenomenon do bats or dalphins aound
wse 1o find prey, predators or obstacles 7 (A) ZB0O0%C (B) 3200°C
EA) Makeaerion Bf sousd (C) 4000°C (1) 1500°C
(B) Formation of beats 100, Which is the most stable eco-system 7
(C) Scattering of sound {A) Desen (B) Ocean
(1) Echo location {C) Mountain (17} Forest

-

I - BC 2011 22
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101. A reduction of 20% in the price of an apple
enables & man to buy 10 apples more for
T 54. The reduced price of apple per dozen
1%

(A) T 432 ~{B] T 1296
() T 10-80 (D) ¥ 14:40
102, Price of a commodity has increased by

G0%. By what per cenl must a consumer
recluce the consumption of the commodity
50 a8 not to increase the expenditure ?

(A} 37 (BY 375
(C) 405 (D} 60

, 103. The cost of an apple is twice that of a
| banana and the cost of a banana is 25%
|' less than that of a guava. If the cost of each
type of fruit increases by 10%, then the
percentage increase in cost of 4 banands,
2 apples and 3 guavas is

(A) 10% (B) 12%
(C) 16% (I3 18%k
104, Walking §th of his vsual speed, a man is

| 12 minutes too late. The usual time taken
by him to cover that distance s

PART - C
NUMERICAL APTITUDE

105, It | walk at 5 km/hour, 1 miss a train
by 7 minutes. If, however, [ walk at
6 km/hour, T reach the station 5 minutes
before the departure of the train. The
distance {in km) between my house and the

station 1%
) 6 ®) S
(C) 4 (Dy 3

106. T 800 becomes ¥ 956 in 3 years at a certain
rate of simple interest, If the rate of interest
is increased by 4%, what amount will
T B0 become in 3 years 7

(A) T 102080 (B) T 1025
(€)% 1052 (D) T 1050
107. Simple interest on-a certain sum is 4% of

the sum, The rate per cemt if the mte
per cent and time (in years) are equal, 18

';,.JEB}EI%

() 12%

{A) 6%
(C) 0%

108, If the difference between 5.1, and C.1. for

- 2 years on of money lent at 3% i
TL o r Jz’ﬂr“‘ﬂ ¥ 6, then l:h[: ::Tn is i
poh (B) 1 hour 12 minutes ﬁy
1/[:;9’ () | hour 15 minutes }{ (A) T 2200 (B) T 2400
(DY 1 hour 20 minutes (C) % 2600 (D) T 2000
| SPACE FOR ROUGH WORK
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. . — {0
P L7~ 5
i TRETR 1
i
= Lh .
D fﬁﬁ"" = L-"'"L} war ﬂf}'} -@Tﬁiu! \FV ,%j
- BC 2011 L AV 6 WP 4P e
S e e ‘]‘r‘lc Jio R L




Caseex X Jebs SecHen 1~ SORAPEDIA" (o ¢

> o
Ry
. - g 3 b
109. A hemisphere and 1 cone have equal bases. m./If J7 =14142 find the value of
If their heights are also equal, the ratio of | 1
their ‘curved surfaces will be p 1 T v +.'N"§—2 ,i-?;;f;'lr
A) 1 2 .
) 808 R hsﬁ" (A) 14144 (B) 2:8284
— {E.'}I'E ) 201
@ & (C) 28284 (D) 24142
|..1.'_..|-1 : : ;
'h:" , then, the value of 1S, FXaY=X+ Y2 -XYithen 11 #1345 14
St - 5.:-1 is M {A) 117 ABY 147 :
¥ |+
ALY w3 POGE (©) 29 R
C) 4 (1) § . x
M g
Tt 2Y - 0.
A} 1. When 27 is divided by 10, the remainder | 136 e vulue of (3_52} 0008
/' will be (32)% +0:64+0-04
A B) 3
f EC; ) (m:;ls 3 (A} O (B) 2994 |
ML | h (C) 3208 S B -a;.-.-‘-hf
D,( I { s G[_ g
\](v 112, The value of 3+ 31 is 1.;)‘5', | e
> 117, If a3 =11, then the value of a® - 3314 is
2 0 holl (BL~1331000
: (A) 1331331 ;
Ay 4 “B) # 4 &
8 €y 1334331 (D) 1330030
© # 20K | SR U
. st a=" | R
113, Find the unit digit in the product 1BAIf {1+ === ==, then the value of x is
243 2 Y 88l 3t
(4387)"% % (621) N J7
ﬁ | (B) 2 {A) 63 (B 6l r?:'?.*
=
(C} 5 ) 7 (C) 65 (D) 64 S
ST
\ SPACE FOR ROUGH WORK Frd U
\ ﬂﬁ’iﬂ : | q E
‘f{'.ﬂr x i : 65}0 ok . 1’" ¢ 1:"
JCT IO i Y
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Y M
1. 1 a and b are odd numbers, then which of 125, A and B working separaiely can do a picce
the fnlluﬁjn is even 7 of work in 9 and 12 days respectively, If
. e they work for a day allemately with A
) Ebra it e beginning, the work would he caompleted in
(C) a+b+1 _I[_EJ ﬂ}"l;il"i-gﬂb
@""’:‘JP (A} !l.lgl clays (B) 104 days
120. 2'%— 1 i5 divisible by A
(A) 11 (B) 13 y (C) 104 days (D) 104 days
) 11 (D) 16 ;
c 126, A and 8 together can do o work in [0 days.
'?ﬁ“ HCF and LCM of two numbers are #and € together can do the same work i
12 and 924 respectively, Then the nyumber G days, A and C together can do the wirk
of such pairs is in 12 days. Then A, # and ¢ logether can
12 (A) 0 (B | do the work in
()2 () 3 {A) 28 days (B) 14 days
- What is the least number which, when (C) 5% days (D 'E%I dirys
divided by 5, 6, 7, 8 gives the remalnder 3
but is divisible by 9 ? 127. A does hall as much work a5 & in throe-
(A) 1463 (B) 1573 lourth of the time, If together they take
I8 days w complete & work, how much
(31683 D) 1793 time shall & wke to do it alone ?
123, Three numbers are in the ratio 3 : 4 : 5, The {A) 30 days (B) 35 days
sum of the largest and the smallest equals :
the sum of the secand and 52. The smallest () 40 days ~(D) 45 days
nurmber is
(A) 20 (B} 27 128, I & wire is bent into the shape of a square,
: : then the area of the square so formed is
(C):39 )52 81 cm?. When the wire is rebent inta o
. SR semicireular shape, then the area (in cm?)
SR ey | o i i e (T )
(A) 125% (B) 100% (A} 22 (B) 44
() 75% (D) 50 (Cy 77 D) 154
SPACE FOR ROUGH WORK
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129,

130,

131,

132,

Marbles of diameter 144 em are dropped
into a cylindrical beaker containing some
water and are fully submerged. The dia-
meter of the beaker is 7 cm. Find how
many marhles have heen dropped in it if
the water rises by 546 cm.

(A) S0 (B 150
() 250 (D} 350

Water is flowing at the rate of 3 km/hr
thraugh a circular pipe of 20em internal
diameter into a circular cistern of diameter
i0m and depth 2m, In how much tme
will the cistern be filled ?

(A) | hr

{(B) 1 hr 40 mins

(Cy 1 hr 20 mins
(D) 2 hrs 4 mins
A hicycle wheel makes 5000 revolutions in

moving 11 km. The diameter of the wheel,
in cm, is

(A) 35 (B) 35
(C) 65 (D 70
At each corner of a riangular field of sides

26 m, 28 m and 30 m, a cow is tethered by
u rope of length 7m, The area (in m?)
ungrazed by the cows is

{A) 336 (B) 239
(C) 134 o) 7

133,

134,

135,

136.

137.

_ SenaPLbiAac e

e —

A shopkeeper allows 23% commission on
his advertsed price and still makes a profit
of 10%, If he gains 2 56 on one item, his
advertised price af the item, in ¥, is

(A) 820 {B) 780

(¢} 790 Dy B0

The single discount equal to three consecu-
tive discounts of 10%, 12% and 5% is
(A) 26-27% (BY 24-76%

{C) 9% (Dy 1%

If x:y=5:6 then {sz-zyi}:{yzuxlj
is

(A) T:6
(G311

(B) 11:3
) 6:7

An alloy contains capper, zine and nickel
in the ratio of 5:3:2. The quantty of
nickel in kg that must be added o 100 ke
of this alloy to have the new ratio 5:3:3,
15 ]

(A) 8
{C) 12

(B) 10
(DY 15
The ratio of the ages of Ram and Rahim
L0 years ago was 1 : 3. The ratio of their

ages five years hence will be 2:3. Then
the ratio of their present ages is

(A) 112 ()33
() 3:4 (D) 2:5

SPACE FOR ROUGH WORK
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138. The incomes of A, & and C are in the ratio
7:9:12 and their spending ure in the ratio
B:0:15 If A saves irh of his income,
then the saving of A, B and & are in the

ratio of
(A) 69 ;5648 (B) 47:74:99
(Cy 3772 :48 (I 56 B

139, Out of 4 numbers, whose averapge is 0, the
firat one i3 one-fourth of the sum of the last
three. The first number 13

(A) 15 (B) 45
(Cy a8 (13 i
140. The average of 25 observations is 13, It

was later found that an observation 73 was
wrongly entered as 48, The new average is

(A) 126 ) 14
{€) 13 () 138
141, If the cost price of 10 articles is equal (o the

selling price of 8 articles, then gain per cent
18

x (A) 105
% (C) 50%

(B) &%

‘(p}fzﬁﬁa

142. An article 15 marked 40% above the cost
price and a discount of 30% is allowed,

143, A man bought oranges ot the rate of 8 for
T 34 and sold them at the rate of 12 for
T 57, How many oranges should be sold 1o
garn & net profit of T 45 7

AR 90 (B) 10
(C1 135 (1) 150

144, A mun sells two anticles for T S000 each
neither losing nor gaining in the deal. If he

sold one of them at a gain of 25%., the other
article 15 sold al u loss of

By 16445
(D) 184%

(A) 153%

() ]?-}fﬁ-

145. By selling an article for ¥ 144, a0 person
pained such that the percentage gain equals
the cost price of the article. The vost price

of the article s %
(A T 90 iH) T RO
(E1 TS (D) T 60

146, The average age of 11 players of a cricket
team 18 increased by 2 months when two of
them aged 18 years and 20 years are
replaced by two new playvers. The average
age of the new players s

(A 1% years | month - L
) ¥ 711 =

What is the gain or loss percentage 1 /:l? 19 years & months |'I-;# i 1
(A) 10% gain (B) 5% gain 7} 19 years 11 months 74 ¢
JET 2% loss (D) 12% loss (D) 19 years 5 months g .,'[,{J-l ﬂ
b ¥ -
s 'l.'}lJ"} 1/6' SPACE FOR ROUGH WORK L';D
Ll = ‘? 1- - Eu""- L?' II-I
SR SCT5 (i R PSR,
o = wat L W) y O ! L‘\q{
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The following graph shows the production of
wheat flour {in 10 tonnes) by three COMmpunies
A, ¥ and Z aver the years, Study the graph and
answer Question Nos, 147 1o 150,

=
7 B

E v ] z

g4 37
E A0 4 *:l
§I_"|'" T —:".ll.

BT BB

g T R
B 100 24
-
T B
Bl 2000

147, What is the difference between the

jproduc-
tion of company Z in 2004 and company Y

i MK {in thousand tonnes) 7

(A) 2000 AH) 200 %52:’"
(C) 20 (13} 3 \

148. What is the ratio of the avernge production
of company X in the periad 2002-2004 to

the average production of company ¥ in the

150, The average production for five years wias
maximum for which company 7
AA&T X and Zboth  (B) ¥
(C) Z (D) X and ¥ both

FOR VISUALLY HANDICAPPED
CANDIDATES ONLY

47 I x=2" % % 7 and y= 2" % 3% 5 then
the HCF of « and v is

(A) 2V % 3w 5% 7% (By 22 325 72
(C) 22xa (D) Sx7?

148. Twao cubes have their volumes in the ratio
|2 64, Then the ratio of their surface area is
{A) 1:8 (B) 16;:1
() 1:16 (D) 216

149. P, () R staned a business with invest-
ments in the ratio 13 ¢ 5. After 4 months
P invested the same amount as before
and O us well as R withdrew hall of their
mvestments. Now the new profit sharing
ratio at the end of the year is

{(A)4:3:5 B) 5:6:10
RSN T (D) 10:5:6

same period 7
11 (B) 15:17 150, A motorist covered the first 20 km of his
" 23-9 D 27-79 journey in M minutes and the remaining
e 3 i : 29 km in 40 minutes. His average speed in
149, What is the percentage increase in the pro- km/ihr is
duction of ¥ 200 137
uction of company ¥ from 2002 to 200 (A) 4]% (B) 42
A 143 (B) 168
{€) 25 (D) 40 (C) 49 (D) 57% a®"
SPACE FOR ROUGH WORK ;1«9 71—
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PART - D
ENGLISH COMPREHENSION

Directions + In question nos, 151 1o 155, out of
the four alternatves, choose the ong which hest
expresses the meaning of the given word and
mark it in the Answer Sheet,

151, Poignani

LA showy (B sad

1y =lly (13 snabhish
152, Querulous

(&) entical (B} curious

() complaning (1} ambiguous
153, Audscious

{A) bralliant {B) powerful

_iC) bold (D) frightening
154, Perilous

A hazardous (B} rigoerous

(T resilient (D) requisite

155. Reveric
(A) determination (B) day-dream
(] reality (I realization

Directions : In question nog. 156 (o 160, choase
the word opposite in meaning to the given word
and mark it in the Answer Shect.

156, Autenomous
@Ay self-government (B) dependent
{C} defensive AD) feutril

157. Deceitful

(A sincere (B} useful

(C1 plam Jj'ﬂ hames!
|58. Exonerate

(A admit (B] release

{C] conviet (1) reject

159, Exagperaie |
(A) underwrite I‘,,.uLIJ-‘I understane
{C) 1pnore {17 condemn
160, Controversial _ j
_ (A} indisputable (B) restraimed
() controlled (D) appeasing

Directions ¢ Tn question nos. 161 1o 165, four
alternatives are given for the Tdiom/Phrase and
hald italicised in the sentence. Choose the
alternative which best expresses the meaning of
the Idiom/Phrase and mark it in the Answer
Sheet.

161. To strain every nerve
_(AY o make utmaost efforty
(B1 to feel weak and tired
(C) to be a diligent worker
() to he methodical n waork

162. To flog a dead horse
(A) to whip a dead horse
_AB) to atempt to do the impossible
() waste one's efforts

i1 o ke advantage of a weakness

163, To show a clean pair of heels
(A) 1o hide
(0 Lo pursie

(B8] 1o escape
(1) 1o follow

164, Tho die in harness
(A} premeditaced murder
(B} dying young in an accident
O 1o die while in service

(D} o be taken by surprise

165. To feather one's nest
(A} o make o residential house
(B) something that lasts for a short tme
(Cy o profit in a dishonest way

(13} none of the above



Directions ¢ In question nos, 166 tw 170, a
sentence is given which may need improvement,
Alternatives are given at (A), (B) and () below
which may be @ better option. In case no
improvement is needed. your answer 15 (Lxh
Blacken the appropriate rectangle [wm| in the
Anzwer Sheet.

166. A taller Sikh rushed forward than any of
his comrades,

(Ay A Sikh, taller than any of his
comrades, mshed forward

(B) A Sikh rushed forward taller than any
of his comrades

('} A Sikh rushed forward than any of his
comrades taller

(1) MNe improvement
167. An suthor in the teien of Queen Anne who
was famous lived in a cotage.

(A) An author in the reign, who wis
famous, of Queen Anne lived in a

coltage

(B) In the reign of Queen Anne, an author
lived in a cotage, who was famous

() An author who was [amous in the
reign of Queen Anne lived in a cotfage

(D No improvement
168, 15 the absence of your supporl, he would
have lost the election,

(A) Lacking your support, he would have
lost the election

{B) But for your support, he would have
lost the election

{C) He would have lost the election, if you
hadd not supported him

(D No improvement

D - BC 2011

169, My uncle is enough rich to buy a car
(A My uncle is rich enough o buy a car
(B) My unele is richer enough 1o buy 4 car
() My uncle is enough richer to buy a car
(D) No improvement

170. Walking along the road, an eld man ran
aver the lomy.

(A) Walking along the road, an old man
ran behind the lorry

(B Running along the road, the lorry mn
over an old man

(C The lorry ran over an ald man walking
along the road

(¥ Mo improvement

Directions 3 In question nos, 171 to 175, groups
of four words are given. In each group, one word
is correctly spelt._Pind the correctly spelt word
and mark your answer in the Answer Sheet,

171. [AL_purﬁiﬂunm: (B thesaurus

(C) consploous (I renaisance
¥t IR e

ITE.}A} acoustic |y, (B norcoctic
[ s

{C) pesimist (13 permenant
173. H}j impetous (B} ignoable

{C} ignominious (I idiosyncresy

174. (A) Inconsistant (B} Repentant

() Exponant (13 Excultent

175. {,j) demagogue )y deliverence ¥
s

() delinguancy (13 delibarative
.

K |PT.O.
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Directions ¢ In guestion nos. 176 1o 180, out of
the four alternatives, choose the one which can
be substituted for the given words/sentence and
indicate it by blackening the appropriate rectangle
|| in the Answer Sheel,

176, A person who has no money to pay off his
debis

G}J Insolvent
() Destitume

By Poor
(13} Pauper

177. Words uttered impiously about God
{A) amoral
() logic

By philosophy
iy blasphemy

‘ffm:anEmmﬁmw [of7

178, Quibble
(A) Premeditate  (B) Prenominate

({7 Prevaricate (D} Preponderate

179, One who compiles a dictionary
{A) peographer”

I'.Ez/i,upi:lisr.

180, A test in which cells from diseased organs
are removed and tested

(A} Blopsy ) Autopsy
{C) Operation () Amputation

{B) lexicographer
£ (D) linguist

Direetions : In the following passage (181 1o 199), some of the words have been left oul. First read
the passage over and try to understand what it is about, Then [ill in the blanks with the help of the
alternatives given, Mark your answer in the Answer Sheet. :

PASSAGE (Question Nos. 181 to 1940)

A 181 becomes a flowing stream only 182  there is continuity of _183 life in a society. In
|84 words, a 185 culture comes into 186 when people 187 a continuous way of life, Such
185  expresses itself 189 wvarious ways in common traditions snd 190 ol conduct.

181, (A} civilization ..":-B] culture
182, {A) at (B what

183, (A} individual (B) nature's
184, (A) different By difficult
185. (A) distinctive .5;!-3 unigue
186. {AI]I phase {I}!} existenee
187, (A} develop (B) creas
188, {J-';j inconsistency {B)- uniquencss
189, (A) in (B of

190, (A) rules {B) regulations

D - BC 2011 38

{C} idea (17 philosophy
) when (I3 as

(C) society's D) eollective
(3 other (M many

(C) clear (D) fogay'
() action (1) thinking
_(;j follow AD} end

(C) greamess (12) continuity
() with Ay
:E)—nm'nw (1) laws




A R ] W RO e e O mE T n e

D SR

D -BC 2011

Directiony : In question nos. 191 to 195, some
of the sentences have emors and some are
comect, Find out which part of a sentence hag
an error and blacken the rectangle [mm] corves-
ponding o the appropriate leter (A, B, ). If a
sentence 15 free from  errors, blacken ihe
rectangle comresponding to (I3 in the Answer
Sheet,

191. If you hud told me

(A)
I would have helped you
(B}
solve the problem,  No error
ey (B

192, "The Arabian Nights"  are indeed

{A) i

an interesting book, No error

() o

193. He loved her despite of himself,
(A B (©)
Mo error
(D)

194, Of all the models  Jessica is
(4er (B)
the more pood- looking ane, No error
{C) (B3]

195. When I went there  Charles is playing

(A) By

i game of chess,  No error
(C) (1)

Directions : In question nos, 196 10 200
sentences are given with blanks to be filled in
with an appropriate word(s). Four aliernatives
are sugpesied for each question, Choose the
correct alternative out of the four and indicate it
by blackening the appropriate rectangle [mm] in
the Answer Sheet.

196, _ your instructions, we have
closed vour bank aceount.
(A) In liew of
ﬁ) With regard to
JCT In accordance with

(MM On account of

197, . she s clever, she olten makes

rmistakes,
tA) Despite (B) Since
(¥ Although (D) Yet

198. Do you prefer
forms 7

or raditional art

(A) archaic B} contemporary

(") foreign (1% simultancous
199, The farmers their farms, if

they had known that a thunderstorm was
approaching,

(A} will leave (B) would leave

(C1 will have Jeft (D) would have left

200. The Paralympics is a competition lor the

LA} disadvantaged (B) discouraged

39

(Cr disabled (D) despised



